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Workout
*The diagrams in this exercises are not drawn to scale.

Question 1: Below are pairs of similar shapes.
Find the missing lengths.

(a) (b)
-

8cm 4cm I:I

(c) (d)

20cm
4cm &m 16¢cm 2.5cm
1.5cm I:I
12cm

(e) (f)

i 6.5cm
cm 6cm
9cm / j /

12cm 60cm

Question 2:  These pairs of shapes are not similar.

Explain why.
(a) (b)
E 15¢cm F A
A ren g 3cm &m
4cm 8cm ¢ 4cm B
D ¢ H G

Question 3: Rectangles ABCD and EFGH are similar.

Work out the size of EF

4cm
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12cm

15¢cm
15cm
1.3m
1.2m
50cm
D
40cm
21lcm
F
32cm
F
G
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Question 4: Triangles ABC and DEF are similar. :
(a) Work out the length of DF / i 20cm 22cm
5cm
(b) Work out the length of BC
A 6cm c D F

K

Question 5: Triangles GHI and JKL are similar.

(a) Write down the size of angle JKL 19cm

H
(b) Work out the length of GI 9.5cm/£\
6 I

Question 6: Trapezium ABCD and trapezium EFGH are similar.

J
22cm

F 105cm 6

(a) Work out the length of EF g 3.9cm ¢

5.2
(b) Work out the length of AD CmD

A b E 19.2cm

Question 7: The triangles below are similar

(a) Find the size of x

y 25cm
(b) Find the size of y

8cm
X
Question 8: Rectangles ABCD and EFGH are similar. E
8cm

Work out the length of EF A 9em

5cm

D ¢ H
Question 9: The diagram shows three similar rectangles.
(a) Work out the size of x
B C

(b) Work out the size of y A
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Question 1: Rectangles ABCD and EFGH are similar

E F
Find the area of rectangle EFGH L Tem
6cm
2cm
D c H G

Question 2: Here are two triangles

e & fem

6cm

9cm

Finley says “the two triangles are similar because 3cm has been added to both the height and
base of the smaller triangle.”

Explain why Finley is incorrect.

Question 3: ABC and DEF are similar right angled triangles.
AB=24cm AC=7cm DF =42cm

Work out the length of EF.

AZem © b 42em F
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